
問）x2−6x−1 = 0…（１）の２つの解をα, β(α > β)

とおくとき、α1002　の一の位を求めよ。　

（１）を解くと　 x = 3±√
10

ゆえに、α = 3 +
√
10, β = 3−

√
10

an = αn + βnとおくと

an+2 − 6an+1 − an = 0…（２）となる。

a1 = α + β = 6≡ 6(mod10)

a2 = α2 + β2 = 62 − 2× (−1)≡ 8(mod10)

（２）より　 a3 = 6a2 + a1≡ 6× 8 + 6≡ 4(mod10)

a4 = 6a3 + a2≡ 6× 4 + 8≡ 2(mod10)

a5 = 6a4 + a3≡ 6× 2 + 4≡ 6(mod10)

ゆえに　 anの一の位は　 6　 8　 4　 2　の順番に
ループする。

a1002の一の位は 1002 = 4× 250 + 2より 8である。

α1002 = a1002−β1002で β = 3−
√
10より　−1 < β < 0

なので 0 < β1002 < 1 である。　　

ゆえに　　α1002 の一の位は　 7

1


